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EACULTY OF ENGINEERING o
B.E. (EEE, EIE, M/Prod., AE) IV semester(CBCS)(Backlog)Exammatron.
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, Subject: i : athematics-1V
Time: 3 Hours ubject Engmeermg Math Max. Marks: 70

(Missing data, if any, may be suitably assumed)
PART - a
Note: Answer all the questions.
1. Find L{t e~t}.
2.

(10 x 2 = 20 Marks)

State second shifting theorem of Laplace trznsforms.

3. Find th . _ (1, -l<x<1
ind the Fourier transform of f(x) = {l]. | > 1
4. Find the finite Fourier cosine transform of [ Y) = x in [0,7].
5. Obtain 2[2"}
_ Z%-32%42z41 . .
6. If Z{f,} = m then find ,!L";ff"
7.

Perform two iterations of bisection method to obtain the smallest positive root of

x*~5x+1=0.

8. Using Euler's method, find an approximatd value of
h=0.1. .

9. Define correlation and regression. -

10. Find the rank carrelation coeff1c1entjrom4he followmg data.
x [1 [27]3.]4 [5°
N
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Note: Answer any five Q&stlons

y(0.2) fory"=x+y, y(0) =1 with

(5 x10 = 50 Marks)

1. (a) Find L {* !‘}.

(b) Using convolution theorem, find L™

.(.s-l)

o

12 FEind the Fourier sine transform of f(x) = e™™ and hence evaluate j'.r S My

LAY
y 1+X

13. (a) Find Z{m 9}-

(b) Use Z transforms to solve the diﬂerenqe equation v, ,, + Va1 = 2v, = 0

1'11:4 1:0 '
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4. (a) Solve the following system of equatidxs using Gauss elimin
. oy —Sy+4z=5

ion method.

X—y+z=1, =3x+2y-3z= -6 )
(b) Using Lagrange's interpolation formula, find £ (x) from the following data.
o
I

i 15. (a) Find the values of @, b, ¢ so that y =g + bx + cx* is the best fit to the data given

X 0 1 2 3 4
y o 1 0 3 10 21

(b) Two lines of regression are x + 2y =5, 2x+ 3y = 8. Find(iymean values of xand y

below.

(if) the coefficient of correlation.

: 2
16. From the following table of values of x and y, obtain % and -3-—}; for x = 1.0
g X

Cox o100 | 128) A A6 | 18 [ 20 [ 22
e i ,I I - g I e -_-_"_-r—#_ —
I y 2.7 1‘83]’:%@34)1 '4.0552 J 4.9530 | 6.0496 | 7.3981 | 9.0250
NN

-17. Establish the formula@i =0f +0; = 2r ax0y , Where r is the correlation coefficient

between x and y. Hence find r from the following data.

lx: 4 6 | 8 10‘12

[y= 2 [ 31 4 6 | 10
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